NPRR461 Questions Discussed at RCWG on 11/02/2012

Manny’s Questions (Sent to RCWG):

1. Has ERCOT determined if the implementation of NPRR461 will result in additional metering demands and/or metering assistance from the TDUs and/or if for the TDUs need to send any different data to ERCOT from what it sends prior to the implementation of NPRR461?

RESPONSE:

· Until the Protocols are updated with final language and systems are modified to implement the final Protocol language, there is no special treatment for energy consumed to “charge” an energy storage resource.

· Based on the ERCOT comments for NPRR461 dated October 31, 2012, the proposed solution has the following requirements if Wholesale Storage Load treatment is desired for an energy storage Load Resource.  An energy storage Load Resource makes a choice to receive Wholesale Storage Load treatment. 

· Wholesale Storage Load must be separately metered with an EPS meter

· Design Proposal must be updated to include any WSL metering points

· Energy storage Load Resource must register as a Load Resource with ERCOT

2. Has ERCOT determined if the implementation of NPRR461 requires changes to the SMOG?

RESPONSE:

· Based on the ERCOT comments to NPRR461 dated October 31, 2012, we have not identified a need to define the metering arrangements in SMOG.  If others see a need, please elaborate.  

3. What does the term “associated” mean in the following 10.2.3 (g) and (h) suggested additions?  
(g) DG where there is an Energy Storage Resource (ESR) that has “associated” Energy Storage Load (ESL); and

(h)   ESL “associated” to an ESR.
RESPONSE:

· associated Load is picked up from section 10.3.2.3 and would have the same meaning as applied in that section.   The market has historically chosen not to define this term.       In general, associated Load has some ownership in the generation, which at times requires ERCOT legal review, or is part of a Qualified Facility registered with the PUCT.   ERCOT is not opposed to a market effort to provide specifics around this term and generation auxiliaries as used in section 10, if this clarification is needed.

4. Section 10.3.2.3 (Generation Netting for ERCOT-Polled Settlement Meters):

a. How does ERCOT currently net two different POIs?

RESPONSE:

· for a net generation condition, energy flows times EPS meter point price

· for a net Load condition, Load is assigned to an ESI ID for settlements

b. How will the proposed exclusion for compressed energy storage to be connected to a common switchyard affect the current process ERCOT uses for netting?

RESPONSE:

· WSL will always be separated and settled based on energy flows times EPS meter point price

· the generation site as registered on the RARF and set up in Lodestar will be settled the same as described in a above

c. With respect to the new subsection (2) (e) why are requirements (i) though (iii) being limited to generation sites and shouldn’t there be a formal definition for the term “generation site”?

RESPONSE:

· All generation netting is performed for a generation site as registered on the RARF and set up in Lodestar.  If the use of this term is confusing, we could use generation Resource Facilities as used in section 10.3.2.3.

d. In c above why isn’t there a metering requirement for ESR generation?

RESPONSE:

· Based on the ERCOT comments to NPRR461 dated October 31, 2012, there is no need to have separate EPS metering on any generation at the generation site.

5. Section 11.1.6 ERCOT Polled Settlement Meter Netting:

a. New Section (3):

i. What is the overall intent behind these various metering schemes.

RESPONSE:

· This section is intended to ensure transparency.   This section has been updated by the ERCOT comments to NPRR461 dated October 31, 2012.

ii. What is a “Generation Resource site”

RESPONSE:

· Generation site as registered on the RARF and set up in Lodestar 

iii. Is all the netting described across or within a 15-minute settlement interval?

RESPONSE:

· Netted for a 15-min basis
iv. What does the term “associated load” mean?

RESPONSE:

· associated Load is picked up from section 10.3.2.3 and would have the same meaning as applied in that section.

v. Should there be a check that all this netting adds up to the net effect of the POI across the settlement interval?
RESPONSE:
· Not sure what the expectation is here.  If there is specific language offered, we can review and offer comments.  

Marguerite’s Questions (filed in comments on the NPRR):
1. In gray box in Section 6.6.3.1”Real-Time Energy Imbalance Payment or Charge at a Resource Node” the calculation of RESESMEB q, p:
RESESMEB q, p  is defined as: Energy Storage Site Real-Time Energy Total—The share of the net sum for all Settlement Meters associated with a generation site where ESRs are located for the QSE q at Settlement Point p.  
RESESMEB q, p  is calculated per QSE per settlement point. 
It is calculated as follows

RESESMEB q, p
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RESPONSE:
· This section has been updated by the ERCOT comments to NPRR461 dated October 31, 2012.

2. GSPLITPER is calculated by taking the Supervisory Control and Data Acquisition (SCADA) values (GSSPLITSCA) for a particular Generation Resource r that is part of a net metering configuration and dividing by the sum of all SCADA values for all Resources that are included in the net metering configuration for each interval.  Where for a Combined Cycle Train, the Resource r is the Combined Cycle Train.)

GSPLITPER takes total resource output per 15 minute interval and breaks it up and assigns to resources behind the meter. (Correct?)  This creates a value between zero and one?

RESPONSE:
· Yes. 

3. MEBVG is Metered Energy for a Virtual Generator at bus(The metered energy by the Settlement Meter me for the 15-minute Settlement Interval for a Generating Resource associated with a generation site where an ESR is located.

MEBVG is energy that is injected to the grid over a 15 minute period for a generation site code at a bus? (Correct?)

RESPONSE:
· This section has been updated by the ERCOT comments to NPRR461 dated October 31, 2012. This bill determinant no longer applies.
4. MEBVSL is Virtual Storage Load at bus(The metered energy by the Settlement Meter me for the 15-minute Settlement Interval for the WSL (negative) associated with an ESR located at a generation site
MEBVSL is the energy that is consumed over a 15 minute period for a generation site code at a bus? (Correct?)

RESPONSE:
· This section has been updated by the ERCOT comments to NPRR461 dated October 31, 2012.  This bill determinant no longer applies.
5. How does ERCOT plan to ensure that the bus is the same for both components?  In particular, we seek help to understand the mechanics of this for each SCED interval (comprising a 15 minute Settlement Interval) when, as in the definition for the Energy Storage Resource (“ESR”) the ESR would be “simultaneously withdrawing energy from the ERCOT System and injecting energy into the ERCOT System.”  How are the values of energy/injection for each SCED interval determined? Is there an injection value and a withdrawal value for each SCED period that is netted for the SCED period?

RESPONSE:
· The ESR definition has been removed by the ERCOT comments to NPRR461 dated October 31, 2012.  Can discuss further if this type of question exists under the new concept.
6. The equation for RESESMEB q, p seems to calculate a value for a 15 minute period. Where are the 5 minute interval calculations that roll up to the 15 minute value?

RESPONSE:

· This concept has been removed by the ERCOT comments to NPRR461 dated October 31, 2012.
7. RTRMPRES is Real-Time Price for the Energy Metered as Wholesale Storage Load located at Energy Storage site Resource meter at bus(The Real-Time price for the Settlement Meter at Electrical Bus d when the output for the ESR is WSL, for the 15-minute Settlement Interval.
RNWFVSL b, y  is Net meter Weighting Factor per interval for the Energy Metered as Wholesale Storage Load The weight factor used in net meter price calculation for meters in Electrical Bus b, for the SCED interval y, for the WSL associated with an ESR.  The weighting factor used in the net meter price calculation shall not be recalculated after the fact due to revisions in the association of Resources to Settlement Meters.
TL b, y  is Telemetered Energy Storage Load at bus per interval(The telemetered Load at energy storage Electrical Bus b, for the SCED interval y.

RNWF b, y  is the Net meter Weighting Factor per intervalThe weight factor used in net meter price calculation for meters in Electrical Bus b, for the SCED interval y.  The weighting factor used in the net meter price calculation shall not be recalculated after the fact due to revisions in the association of Resources to Settlement Meters.

So the Real time Price for Energy that is used to charge the storage is based on the LMP for each SCED interval at the bus where it is charging because it is based on RTLMP b, y (which is the RT LMP at the bus for a SCED interval y)?

WSLAMTTOT q, r, p
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RESPONSE:

· The WSLAMTTOT concept has been slighlty modified by the ERCOT comments to NPRR461 dated October 31, 2012.
· Yes. The RTLMP is LMP for each SCED interval where ESR load meter is located.

8. How is the RNWF established? Can it change and how often does it change and on what basis?

RESPONSE:

· RNWF is calculated for each interval using snapshot of data from each SCED run (i.e. LMP at meter bus, Generator BP for the case of RNWF, and Telemeter Net Load for the case of RNWFVSL)

9. How is the retail load separated from the Wholesale Storage Load?

RESPONSE:

· ESR load is required to have separate meter and the implementation would ensure that the data aggregation processes do not include it in the real-time adjusted metered load.  The examples provided (in the spreadsheet) help illustrate this. 
For 10.3.2.3 “Generation Netting for ERCOT-Polled Settlement Meters” Section 2(b), how will the settlement equations above work when there are different buses involved? It would seem that load and generation that is not in a commons switchyard would have two buses involved. Will there be more than two buses involved?
RESPONSE:

· Yes, there may be more than one bus.  The examples provided (in the spreadsheet) help illustrate the settlement that values the WSL separate from any generation at the facility.
Why in 11.1.6 “ERCOT Polled Settlement Meter Netting” Section 3(b) was the decision made not to net ESR generation and ESR load?
RESPONSE:

· This was a result of further discussion with commission staff due to concern that the energy would be netted over the 15-min period before applying the price and it would not properly value the WSL or the energy storage resource generation.
Is it possible to clarify 11.1.6 “ERCOT Polled Settlement Meter Netting” Section 3(c): “Remaining non-ESR generation output and ESR generation output is netted with associated Load.”  What does this mean?
RESPONSE:

· This concept has been removed by the ERCOT comments to NPRR461 dated October 31, 2012. 

Shams’ Questions (sent to RCWG):
1- Do we need to exclude WSL for the definition of "Load"? Otherwise we run into trouble e.g. in 3.4 "Load-weighted average", 6.6.1.2 "estimated Load in MW" - we don't want to include WSL in any Load Zone calc. Maybe we define the term as "Wholesale Storage Consumption" and exclude from the definition of "Load" so that there's no confusion with "Load".

RESPONSE:

· In terms of the implementation, the energy consumption from WSL will be excluded from all LZ calculation, which is why we modified the SEL definition in section 6.6.1.2. It’s the same way we treat PUN load and other loads that are flagged as ‘self-served’ in the model
2- Do we need to modify Resource Node definition to include WSL node? For CAES, WSL node could be different from the CAES Generation Resource node. Otherwise WSL settlement may fall through the cracks. Also, this will allow CAES to buy/sell energy and CRRs at that node.

RESPONSE:

· Will need a Settlement Point for WSL; this would need to be described in the procedure for Identification of a Resource Node OBD
3- Is there a particular reason for excluding "including losses for the energy conversion process" in the definition of WSL? If not, it may be good to keep it so that there's no confusion or arguments over it since it was a contested issue.

RESPONSE:

· Nothing of significance - we can put it back in
4- Since we're no longer netting WSL with generation, in 10.3.2.3 2(b) should we strike "except that, WSL … switchyard"?

· RESPONSE:

· Interesting thought, though the settlement formula for the generation site includes the wholesale storage load dollars in section 6.6.3.1 Real-Time Energy Imbalance Payment or Charge at a Resource Node.  Seems we need to keep the language so we can include these points at the gen site when calculating the total payment or charge.
5- In 11.1.6 (3), I'm not sure what (a) is trying to say. Maybe we can strike (a) and just have (3) state "For a Generation Resource site with WSL that is metered behind the POI …[rest of (b)] - what do you think?

RESPONSE:

· (a) is saying that WSL is a metered quantity and comes from the corresponding EPS meter.  
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